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TF: TEXTILE ENGINEERING AND FIBRE SCIENCE 
 

 

Duration: Τηρεε Ηουρσ                          Maximum Marks: 100 

 

 

Πλεασε ρεαδ τηε φολλοωινγ ινστρυχτιονσ χαρεφυλλψ: 

 

 

General Instructions: 

 

1. Τοταλ δυρατιον οφ εξαmινατιον ισ 180 mινυτεσ (3 ηουρσ).  

 

2. Τηε χλοχκ ωιλλ βε σετ ατ τηε σερϖερ.  Τηε χουντδοων τιmερ ιν τηε τοπ ριγητ χορνερ οφ σχρεεν ωιλλ δισπλαψ 

τηε ρεmαινινγ τιmε αϖαιλαβλε φορ ψου το χοmπλετε τηε εξαmινατιον. Wηεν τηε τιmερ ρεαχηεσ ζερο, τηε 

εξαmινατιον ωιλλ ενδ βψ ιτσελφ. Ψου ωιλλ νοτ βε ρεθυιρεδ το ενδ ορ συβmιτ ψουρ εξαmινατιον.  

 

3. Τηε Θυεστιον Παλεττε δισπλαψεδ ον τηε ριγητ σιδε οφ σχρεεν ωιλλ σηοω τηε στατυσ οφ εαχη θυεστιον υσινγ 

ονε οφ τηε φολλοωινγ σψmβολσ:  

  

 
Ψου ηαϖε νοτ ϖισιτεδ τηε θυεστιον ψετ. 

 
Ψου ηαϖε νοτ ανσωερεδ τηε θυεστιον. 

 
Ψου ηαϖε ανσωερεδ τηε θυεστιον.  

 

Ψου ηαϖε ΝΟΤ ανσωερεδ τηε θυεστιον, βυτ ηαϖε mαρκεδ τηε 

θυεστιον φορ ρεϖιεω. 

 

Ψου ηαϖε ανσωερεδ τηε θυεστιον, βυτ mαρκεδ ιτ φορ ρεϖιεω.  

 

Τηε Μαρκεδ φορ Ρεϖιεω στατυσ φορ α θυεστιον σιmπλψ ινδιχατεσ τηατ ψου ωουλδ λικε το λοοκ ατ τηατ 

θυεστιον αγαιν. Ιφ α θυεστιον ισ ανσωερεδ ανδ  Μαρκεδ φορ Ρεϖιεω, ψουρ ανσωερ φορ τηατ θυεστιον 

ωιλλ βε χονσιδερεδ ιν τηε εϖαλυατιον. 

 

Navigating to a Question 

 

4. Το ανσωερ α θυεστιον, δο τηε φολλοωινγ: 

 

α. Χλιχκ ον τηε θυεστιον νυmβερ ιν τηε Θυεστιον Παλεττε το γο το τηατ θυεστιον διρεχτλψ.  

β. Σελεχτ αν ανσωερ φορ α mυλτιπλε χηοιχε τψπε θυεστιον. Υσε τηε ϖιρτυαλ νυmεριχ κεψπαδ το εντερ 

α νυmβερ ασ ανσωερ φορ α νυmεριχαλ τψπε θυεστιον.  

χ. Χλιχκ ον Save and Next το σαϖε ψουρ ανσωερ φορ τηε χυρρεντ θυεστιον ανδ τηεν γο το τηε νεξτ 

θυεστιον.  

δ. Χλιχκ ον Mark for Review and Next το σαϖε ψουρ ανσωερ φορ τηε  χυρρεντ θυεστιον, mαρκ ιτ 

φορ ρεϖιεω, ανδ τηεν γο το τηε νεξτ θυεστιον. 

e. Caution: Note that your answer for the current question will not be saved, if you 

navigate to another question directly by clicking on its question number.  

 

5. Ψου χαν ϖιεω αλλ τηε θυεστιονσ βψ χλιχκινγ ον τηε Question Paper βυττον. Νοτε τηατ τηε οπτιονσ φορ 

mυλτιπλε χηοιχε τψπε θυεστιονσ ωιλλ νοτ βε σηοων.  
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Answering a Question 

 

6. Προχεδυρε φορ ανσωερινγ α mυλτιπλε χηοιχε τψπε θυεστιον: 

α. Το σελεχτ ψουρ ανσωερ, χλιχκ ον τηε βυττον οφ ονε οφ  τηε οπτιονσ 

β. Το δεσελεχτ ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ τηε χηοσεν οπτιον αγαιν ορ χλιχκ ον τηε 

Clear Response βυττον  

χ. Το χηανγε ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ  ανοτηερ οπτιον 

δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 

ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ σελεχτεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 

 

7. Προχεδυρε φορ ανσωερινγ α νυmεριχαλ ανσωερ τψπε θυεστιον: 

α. Το εντερ α νυmβερ ασ ψουρ ανσωερ, υσε τηε ϖιρτυαλ νυmεριχαλ κεψπαδ 

β. Α φραχτιον (εγ.,−0.3 ορ −.3) χαν βε εντερεδ ασ αν ανσωερ ωιτη ορ ωιτηουτ �0� βεφορε τηε δεχιmαλ 

ποιντ 

χ. Το χλεαρ ψουρ ανσωερ, χλιχκ ον τηε Clear Response βυττον 

δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 

ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ εντερεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 

 

8. Το χηανγε ψουρ ανσωερ το α θυεστιον τηατ ηασ αλρεαδψ βεεν ανσωερεδ, φιρστ σελεχτ τηατ θυεστιον φορ 

ανσωερινγ ανδ τηεν φολλοω τηε προχεδυρε φορ ανσωερινγ τηατ τψπε οφ θυεστιον.  

 

9. Νοτε τηατ ΟΝΛΨ Θυεστιονσ φορ ωηιχη ανσωερσ  αρε σαϖεδ ορ mαρκεδ φορ ρεϖιεω αφτερ ανσωερινγ ωιλλ βε 

χονσιδερεδ φορ εϖαλυατιον. 
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Paper specific instructions: 

 

 

1. Τηερε αρε α τοταλ οφ 65 θυεστιονσ χαρρψινγ 100 mαρκσ. Θυεστιονσ αρε οφ mυλτιπλε χηοιχε τψπε ορ 

νυmεριχαλ ανσωερ τψπε. Α mυλτιπλε χηοιχε τψπε θυεστιον ωιλλ ηαϖε φουρ χηοιχεσ φορ τηε ανσωερ ωιτη 

ονλψ one χορρεχτ χηοιχε. Φορ νυmεριχαλ ανσωερ τψπε θυεστιονσ, τηε ανσωερ ισ α νυmβερ ανδ νο χηοιχεσ 

ωιλλ βε γιϖεν. A number as the answer should be entered υσινγ τηε ϖιρτυαλ κεψβοαρδ ον τηε mονιτορ. 

 

2. Θυεστιονσ Θ.1 � Θ.25 χαρρψ 1mαρκ εαχη. Θυεστιονσ Θ.26 � Θ.55 χαρρψ 2mαρκσ εαχη. Τηε 2mαρκσ 

θυεστιονσ ινχλυδε τωο παιρσ οφ χοmmον δατα θυεστιονσ ανδ τωο παιρσ οφ λινκεδ ανσωερ θυεστιονσ. Τηε 

ανσωερ το τηε σεχονδ θυεστιον οφ τηε λινκεδ ανσωερ θυεστιονσ δεπενδσ ον τηε ανσωερ το τηε φιρστ 

θυεστιον οφ τηε παιρ. Ιφ τηε φιρστ θυεστιον ιν τηε λινκεδ παιρ ισ ωρονγλψ ανσωερεδ ορ ισ νοτ αττεmπτεδ, 

τηεν τηε ανσωερ το τηε σεχονδ θυεστιον ιν τηε παιρ ωιλλ νοτ βε εϖαλυατεδ. 

 

3. Θυεστιονσ Θ.56 � Θ.65 βελονγ το Γενεραλ Απτιτυδε (ΓΑ) σεχτιον ανδ χαρρψ α τοταλ οφ 15 mαρκσ. 

Θυεστιονσ Θ.56 � Θ.60 χαρρψ 1mαρκ εαχη, ανδ θυεστιονσ Θ.61 � Θ.65 χαρρψ 2mαρκσ εαχη.   

 

4. Θυεστιονσ νοτ αττεmπτεδ ωιλλ ρεσυλτ ιν ζερο mαρκ. Wρονγ ανσωερσ φορ mυλτιπλε χηοιχε τψπε θυεστιονσ 

ωιλλ ρεσυλτ ιν NEGATIVE mαρκσ.  Φορ αλλ 1 mαρκ θυεστιονσ, Å mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ 

ανσωερ. Φορ αλλ 2 mαρκσ θυεστιονσ, ‰ mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ ανσωερ.  Ηοωεϖερ, ιν τηε 

χασε οφ τηε λινκεδ ανσωερ θυεστιον παιρ, τηερε ωιλλ βε νεγατιϖε mαρκσ ονλψ φορ ωρονγ ανσωερ το τηε 

φιρστ θυεστιον ανδ νο νεγατιϖε mαρκσ φορ ωρονγ ανσωερ το τηε σεχονδ θυεστιον. Τηερε ισ νο νεγατιϖε 

mαρκινγ φορ θυεστιονσ οφ νυmεριχαλ ανσωερ τψπε. 

 

5. Χαλχυλατορ ισ αλλοωεδ. Χηαρτσ, γραπη σηεετσ ορ ταβλεσ αρε NOT αλλοωεδ ιν τηε εξαmινατιον ηαλλ.  

 

6. Dο τηε ρουγη ωορκ ιν τηε Σχριββλε Παδ προϖιδεδ. 
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Q. 1 – Q. 25 carry one mark each. 

Θ.1 Τηε φιβρε τηατ χονταινσ νιτρογεν ανδ συλφυρ ισ 

(Α)  Πολψεστερ (Β)  Wοολ  (Χ)   Νψλον 6 (D)   Κεϖλαρ 

 
Θ.2 Χονδενσατιον πολψmεριζατιον ισ νοτ υσεδ το προδυχε 

(Α)  Πολψεστερ (Β)  Νψλον 6 (Χ)   Νψλον 66 (D)   Πολψπροπψλενε  

 
Θ.3 Wετ σπιννινγ τεχηνιθυε ισ χοmmερχιαλλψ υσεδ το προδυχε φιλαmεντ ψαρν οφ  

(Α) Πολψπροπψλενε 

(Β) Πολψεστερ 

(Χ) Νψλον 66 

(D) Αχρψλιχ 

 
Θ.4 Τηε φιβρε τηατ δισσολϖεσ ιν 59% (ω/ω) συλφυριχ αχιδ σολυτιον ισ  

(Α)  Wοολ 

(Β)  Πολψπροπψλενε 

(Χ) Χοττον 

(D) ςισχοσε 

 
Θ.5 Συρφαχε φεατυρεσ οφ  α φιβρε χαν βε οβταινεδ βψ

(Α) Τρανσmισσιον ελεχτρον mιχροσχοπε 

(Β) Σχαννινγ ελεχτρον mιχροσχοπε 

(Χ) Σmαλλ ανγλε Ξ−ραψ διφφραχτοmετερ 

(D) Σονιχ mοδυλυσ τεστερ 

 
Θ.6 Βιρεφρινγενχε οφ φιλαmεντ ψαρν ισ ρελατεδ το ιτσ 

(Α) Χρψσταλλινιτψ   

(Β) Οριεντατιον 

(Χ) Ινδιϖιδυαλ φιλαmεντ δενιερ 

(D) Dενσιτψ 

 
Θ.7 Α mαχηινε τηατ δοεσ νοτ ιmπροϖε τηε mασσ εϖεννεσσ ισ 

(Α) Dραωφραmε (Β) Ρινγ δουβλερ 

(Χ) Σπεεδφραmε    (D) Ριββον λαπ 

 
Θ.8 Φιβρε ινδιϖιδυαλιζατιον ιν α χαρδ ωιλλ ινχρεασε βψ ινχρεασινγ 

(Α) Λιχκερ−ιν το χψλινδερ σεττινγ (Β) Dοφφερ σπεεδ  

(Χ) Λιχκερ−ιν σπεεδ (D) Χψλινδερ σπεεδ 

 
Θ.9 Σοφτερ χοτσ ον δραφτινγ ρολλερσ ρεσυλτ ιν 

(Α) Αν ινχρεασε ιν δραφτινγ ωαϖε (Β) Λεσσ φιβρε σλιππαγε ατ ρολλερ νιπ 

(Χ) Χηανγε ιν δραφτ (D) Ρεδυχεδ ρολλερ λαππινγ 

 
Θ.10 Χοmπαρεδ το τηε σπιννινγ οφ φινερ χοττον ψαρνσ, τηε πρεφερρεδ ροτορ διαmετερ φορ τηε προδυχτιον οφ 

ϖερψ χοαρσε χοττον ψαρνσ ωουλδ 

(Α) Βε ηιγηερ 

(Β) Βε λοωερ  

(Χ) Ρεmαιν τηε σαmε  

(D) Χηανγε δεπενδινγ ον φιβρε στρενγτη  
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Θ.11 Αmονγστ τηε φολλοωινγ, τηε συιταβλε τεχηνολογψ φορ προδυχινγ χορε σπυν ψαρν ισ  

(Α) Αιρ ϖορτεξ σπιννινγ (Β) Ροτορ σπιννινγ 

(Χ) Φριχτιον σπιννινγ (D) Αιρ−ϕετ σπιννινγ 

 
Θ.12 Ινχρεασε ιν ταπερ ανγλε ον σεχτιοναλ ωαρπινγ δρυm ωιλλ νορmαλλψ ρεθυιρε 

(Α) Ηιγηερ ωαρπινγ σπεεδ 

(Β) Λοωερ ωαρπινγ σπεεδ 

(Χ) Ινχρεασε ιν τραϖερσε σπεεδ  

(D) Dεχεασε ιν τραϖερσε σπεεδ  

 
Θ.13 Ινχρεασε ιν τηε ρατιο οφ τηε λενγτη οφ χρανκ το τηε λενγτη οφ χοννεχτινγ ροδ λεαδσ το  

(Α) Ινχρεασε ιν σλεψ εχχεντριχιτψ 

(Β) Dεχρεασε ιν σλεψ εχχεντριχιτψ

(Χ) Νο χηανγε ιν σλεψ εχχεντριχιτψ 

(D) Ινιτιαλ ινχρεασε ανδ τηεν δεχρεασε ιν σλεψ εχχεντριχιτψ 

 
Θ.14 Σηυττλε ρεmαινσ ον τηε ραχε βοαρδ δυρινγ ιτσ φλιγητ ιν τηε σηεδ βεχαυσε οφ 

(Α) Φορωαρδ ποσιτιϖε αχχελερατιον οφ τηε σλεψ 

(Β) Βαχκωαρδ ποσιτιϖε αχχελερατιον οφ τηε σλεψ

(Χ) Χονσταντ φορωαρδ ϖελοχιτψ 

(D) Χονσταντ βαχκωαρδ ϖελοχιτψ 

 
Θ.15 Ιν ωεφτ κνιττεδ φαβριχσ οφ τηε σαmε mασσ περ υνιτ αρεα προδυχεδ φροm τηε σαmε ψαρνσ, τηε στρυχτυρε 

ωηιχη ωιλλ γιϖε τηε ηιγηεστ τηιχκνεσσ ισ 

(Α) Πλαιν  

(Β) Ριβ  

(Χ) Πυρλ  

(D) Ιντερλοχκ  

 
Θ.16 Τηε νονωοϖεν προχεσσ ωηιχη ηασ τηε ηιγηεστ προδυχτιον ρατε ισ 

(Α) Νεεδλε πυνχηινγ (Β) Ηψδροεντανγλινγ 

(Χ) Μελτ βλοωινγ (D) Σπυνβονδινγ 

 
Θ.17 Dυρινγ βλεαχηινγ οφ χοττον ωιτη Η2Ο2, τηε σταβιλιζερ υσεδ ισ  

(Α) Σοδιυm ηψδροξιδε (Β) Σοδιυm σιλιχατε 

(Χ) Αχετιχ αχιδ (D) Σοδιυm χαρβονατε 

 
Θ.18 Τηε ηιγηεστ ωασηινγ φαστνεσσ ιν α δψεδ χοττον φαβριχ ωουλδ βε οβταινεδ ιφ τηε δψε−φιβρε βονδ ισ 

(Α) Ιονιχ (Β) Ηψδρογεν 

(Χ) Χοϖαλεντ  (D) ςαν δερ Wααλ∋σ φορχε 

 
Θ.19 Dισπερσε δψε χαννοτ γενεραλλψ βε φιξεδ ον πολψεστερ βψ 

(Α) Συπερηεατεδ στεαm ατ180οΧ (Β) Σατυρατεδ στεαm ατ 130οΧ 

(Χ) Dρψ ηεατ ατ 200οΧ (D) Σατυρατεδ στεαm ατ 100οΧ 

 
Θ.20 Χρεασε ρεσιστ φινισηινγ οφ χοττον φαβριχ δοεσ νοτ λεαδ το

(Α) Ρεδυχτιον ιν τενσιλε στρενγτη (Β) Ινχρεασε ιν διmενσιοναλ σταβιλιτψ 

(Χ) Ινχρεασε ιν mοιστυρε ρεγαιν (D) Ινχρεασε ιν βενδινγ λενγτη 
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Θ.21 Τωο ψαρν σαmπλεσ ηαϖε στανδαρδ δεϖιατιον οφ στρενγτη j1 ανδ j 2. Ιφ j1 < j2,  τηε ∋Φ∋ ρατιο ωουλδ βε 

(Α)     j1 / j2 (Β)   j2 / j1 (Χ)  j1
2

/ j2
2
  (D)  j2

2 
/ j1

2
 

 
Θ.22 Νεπ χουντ ιν α χοττον φιβρε σαmπλε ισ mεασυρεδ βψ 

(Α)    ΑΦΙΣ (Β)    ΗςΙ (Χ)     Υστερ τεστερ (D)  Στελοmετερ 

 
Θ.23 Ιν α γιϖεν ωοϖεν φαβριχ τηε εξτενσιον ατ βρεακ ιν ωεφτ διρεχτιον ισ ηιγηερ τηαν τηατ ιν ωαρπ 

διρεχτιον. Dυρινγ βυρστινγ στρενγτη τεστ, τηε τηρεαδσ τηατ ωιλλ αλωαψσ βρεακ φιρστ αρε 

(Α)   Wαρπ 

(Β)   Wεφτ  

(Χ)   Βοτη ωαρπ ανδ ωεφτ σιmυλτανεουσλψ 

(D)   Τηοσε ωιτη λοωερ στρενγτη 

 
Θ.24 ΧΣΠ οφ ψαρν ισ εθυαλ το τηε προδυχτ οφ 

(Α)     Ψαρν τεξ ανδ λεα στρενγτη (Ν) 

(Β)     Ψαρν χουντ (Νε) ανδ λεα στρενγτη (λβφ)  

(Χ)     Ψαρν τεξ  ανδ λεα στρενγτη (λβφ) 

(D)     Ψαρν χουντ (Νε) ανδ λεα στρενγτη (κγφ) 

 

Questions Q.25 to Q.32 are numerical answer type. The answer to each of these questions is 

either a positive whole number, or a positive real number with maximum of 2 decimal places. 

 

Q. 26 to Q. 55 carry two marks each. 

 
Θ.26 Α mαρκετ συρϖεψ βψ α γαρmεντ mανυφαχτυρινγ χοmπανψ ρεϖεαλεδ τηατ τηε χηεστ ωιδτη οφ τηειρ ταργετ 

χυστοmερσ ηαδ νορmαλ διστριβυτιον ωιτη α mεαν οφ 54 χm. Ιφ 18% οφ χυστοmερσ συρϖεψεδ ηαϖε χηεστ 

ωιδτη γρεατερ τηαν 58 χm ανδ 75% οφ χυστοmερσ συρϖεψεδ ηαϖε χηεστ ωιδτη γρεατερ τηαν 52 χm, τηε 

περχενταγε οφ χυστοmερσ ηαϖινγ χηεστ ωιδτη βετωεεν 56 χm ανδ 58 χm ισ  ________. 

 
Θ.27 Τηε ρελατιονσηιπ βετωεεν λοαδ (y) ιν Ν ανδ ελονγατιον (x) ιν mm οφ α χοττον φαβριχ ισ y	ൌ ξݔ . 

Ιφ τηε βρεακινγ ελονγατιον οφ τηε φαβριχ ισ 9 mm, τηε ωορκ οφ ρυπτυρε, ιν Ν.mm, ισ________. 

 
Θ.28 Ον τωιστινγ, τηε δενιερ οφ α mυλτιφιλαmεντ ψαρν χονσιστινγ οφ 300 φιλαmεντσ οφ 3 δενιερ εαχη 

βεχοmεσ 1100. Ιφ 11 κm οφ υντωιστεδ φιλαmεντ ψαρν ισ τωιστεδ, ιτσ λενγτη ιν κm ωιλλ βε __________. 

 
Θ.29 Α λοοm ισ προδυχινγ 2 m ωιδε γρεψ φαβριχ ωιτη 8% ωεφτ χριmπ. Ασσυmινγ τηατ τηε λοοm ισ ρυννινγ 

ατ 570 ρπm ωιτη 90% εφφιχιενχψ, τηε ωεφτ χονσυmπτιον ιν κγ/ηρ οφ  30 τεξ ψαρν ωιλλ βε _______. 

 
Θ.30 Τηε στρενγτη οφ 100 γ/m

2 
φαβριχ οβταινεδ βψ τεστινγ 4 χm ωιδε στριπ ισ  0.4 κΝ. Τηε τεναχιτψ (χΝ/τεξ) 

οφ τηε φαβριχ ισ  ______. 

 
Θ.31 Ουτ οφ 100 τεξτιλε χοmπανιεσ, 10 χοmπανιεσ αρε ινϖολϖεδ ιν σπιννινγ, ωεαϖινγ ανδ χηεmιχαλ 

προχεσσινγ, 25 χοmπανιεσ αρε ινϖολϖεδ ιν σπιννινγ ανδ χηεmιχαλ προχεσσινγ, ανδ 30 χοmπανιεσ αρε 

ινϖολϖεδ ιν ωεαϖινγ ανδ χηεmιχαλ προχεσσινγ. Ιφ 65 χοmπανιεσ αρε ινϖολϖεδ ιν χηεmιχαλ 

προχεσσινγ, τηε νυmβερ οφ χοmπανιεσ ινϖολϖεδ ΟΝΛΨ ιν χηεmιχαλ προχεσσινγ ισ_______. 

 

Θ.25 Ιφ τηε mοιστυρε ρεγαιν οφ α φιβρε ισ 10%, ιτσ mοιστυρε χοντεντ (%) ισ _______ . 
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Θ.32 Ιν α χαρδ τηε προβαβιλιτψ οφ φιβρε τρανσφερ φροm  χψλινδερ το δοφφερ ιν ονε ρεϖολυτιον οφ χψλινδερ ισ 

0.2. Τηε προβαβιλιτψ τηατ α παρτιχυλαρ φιβρε ωιλλ βε τρανσφερρεδ το τηε δοφφερ ωιτηιν τηε φιρστ τηρεε 

ρεϖολυτιονσ οφ χψλινδερ ισ _______.

 

Questions Q.33 to Q.55 are multiple choice type. 
 

Θ.33 
Τηε παρτιχυλαρ ιντεγραλ οφ 

2

2

dx

yd
+ ͷ

dx

dy ൅ ͸ݕ ൌ ݁ଶ௫ ισ 

 

(Α)  ݁ଶ௫ ʹͲൗ  (Β)  ݁ଶ௫ ͳʹൗ  (Χ)   ʹ݁ଶ௫ 

 

(D)   Ͷ݁ଶ௫ 

 
Θ.34 Τηε ινϖερσε οφ τηε mατριξ  ቂܿߠݏ݋ െߠ݊݅ݏߠ݊݅ݏ ߠݏ݋ܿ ቃ  ισ 

 

 (Α) ቂߠ݊݅ݏ ߠݏ݋ܿߠݏ݋ܿ െߠ݊݅ݏቃ   
 

   

 (Β) ቂ ߠݏ݋ܿ ߠ݊݅ݏെߠ݊݅ݏ    ቃߠݏ݋ܿ
 

   

 (Χ)  ቂെߠ݊݅ݏ ߠݏ݋ܿߠݏ݋ܿ    ቃߠ݊݅ݏ
 

 

 

  

 (D)  ቂܿߠݏ݋ െߠ݊݅ݏߠ݊݅ݏ ߠݏ݋ܿ ቃ    

 

  

     
Θ.35 Χονσιδερ τηε φολλοωινγ ασσερτιον [a] ανδ ρεασον [r] ανδ χηοοσε τηε mοστ αππροπριατε ανσωερ  

 

[a] Νψλον 6  ισ πολψmεριζεδ υσινγ ονλψ σινγλε mονοmερ χαπρολαχτυm 

[r] Σψντηεσισ οφ Νψλον 6 ισ βασιχαλλψ αν αδδιτιον πολψmεριζατιον 

(Α)  [a] ισ ριγητ [r] ισ ωρονγ 

(Β)  [a] ισ ριγητ [r] ισ ριγητ 

(Χ)  [a] ισ ωρονγ [r] ισ ωρονγ 

(D)  [a] ισ ωρονγ [r] ισ ριγητ 

 
Θ.36 Χονσιδερ τηε φολλοωινγ ασσερτιον [a] ανδ ρεασον [r] ανδ χηοοσε τηε mοστ αππροπριατε ανσωερ  

 

[a] Σοδιυm χελλυλοσε ξαντηατε φορmατιον ισ αν εσσεντιαλ υνιτ οπερατιον ιν τηε προδυχτιον οφ ϖισχοσε 

ραψον 

[r] Ιτ ηελπσ το ρεδυχε τηε δεγρεε οφ πολψmεριζατιον οφ χελλυλοσε 

(Α)  [a] ισ ριγητ [r] ισ ωρονγ 

(Β)  [a] ισ ριγητ [r] ισ ριγητ 

(Χ)  [a] ισ ωρονγ [r] ισ ωρονγ 

(D)  [a] ισ ωρονγ [r] ισ ριγητ 

 
Θ.37 Χονσιδερ τηε φολλοωινγ ασσερτιον [a] ανδ ρεασον [r] ανδ χηοοσε τηε mοστ αππροπριατε ανσωερ  

 

[a] Ιν φαλσε−τωιστ φριχτιον τεξτυρινγ, τηε ρατιο οφ ινπυτ το ουτπυτ τενσιον ισ κεπτ χλοσε το ονε 

[r] Βροκεν φιλαmεντσ ανδ τιγητ σποτσ αρε ωιτηιν τηε αχχεπταβλε λιmιτσ ατ τηισ χονδιτιον 

(Α)  [a] ισ ριγητ [r] ισ ωρονγ 

(Β)  [a] ισ ριγητ [r] ισ ριγητ 

(Χ)  [a] ισ ωρονγ [r] ισ ωρονγ 

(D)  [a] ισ ωρονγ [r] ισ ριγητ 
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Θ.38 Χονσιδερ τηε φολλοωινγ ασσερτιον [a] ανδ ρεασον [r] ανδ χηοοσε τηε mοστ αππροπριατε ανσωερ  

 

[a] Ηεατ σεττινγ ινχρεασεσ τηε διmενσιοναλ σταβιλιτψ οφ σψντηετιχ φαβριχσ 

[r] Τηε φρεε ενεργψ ρεδυχεσ ασ α ρεσυλτ οφ ηεατινγ 

(Α)  [a] ισ ριγητ [r] ισ ωρονγ 

(Β)  [a] ισ ριγητ [r] ισ ριγητ 

(Χ)  [a] ισ ωρονγ [r] ισ ωρονγ 

(D)  [a] ισ ωρονγ [r] ισ ριγητ 

 
Θ.39 Τηε αδϖανταγε οφ φλψερ λεαδινγ οϖερ βοββιν λεαδινγ σπεεδ−φραmε ισ 

(Α) Λοωερ ροϖινγ στρετχη  

(Β) Λεσσερ χηανχε οφ υνωινδινγ αφτερ βρεακαγε 

(Χ) Λοωερ ποωερ ρεθυιρεmεντ 

(D) Ποωερ ρεθυιρεmεντ ρεmαινσ φαιρλψ χονσταντ δυρινγ τηε βοββιν βυιλδ υπ 

 
Θ.40 Τηε δαιλψ προδυχτιον οφ α mιλλ ισ 1200 κγ οφ 30 τεξ ανδ 1200 κγ οφ 20 τεξ ψαρνσ. Τηε αϖεραγε ψαρν 

τεξ προδυχεδ βψ τηισ mιλλ ισ 

(Α)  23  (Β)  24 (Χ)  25  (D)  26 

 
Θ.41 Α σθυαρε πλαιν ϕαmmεδ ωοϖεν φαβριχ οφ 0.5 mm τηιχκνεσσ ισ το βε προδυχεδ φροm πολψεστερ ψαρνσ. 

Ασσυmινγ χιρχυλαρ ψαρν χροσσ−σεχτιον, τηε νυmβερ οφ πιχκσ  περ χm ιν τηε φαβριχ ον τηε λοοm ισ 

αππροξιmατελψ   

(Α)  13 (Β) 18  (Χ) 23 (D) 28 

 
Θ.42 Ον α ωινδινγ mαχηινε, ιφ τηε ωινδινγ σπεεδ ισ ινχρεασεδ φροm 1000 m/mιν το 1200 m/mιν, τηε 

περχενταγε ινχρεασε ιν τηε ψαρν τενσιον ωιλλ βε αππροξιmατελψ 

(Α) 12 (Β) 24 (Χ) 36 (D) 44 

 
Θ.43 Χηοοσε τηε χορρεχτ αλτερνατιϖε φροm αmονγστ Α, Β, Χ ανδ D 

 

Μερχεριζατιον οφ χοττον ρεσυλτσ ιν  

 Π  Ινχρεασε ιν τενσιλε στρενγτη 

 Θ Ινχρεασε ιν δψε υπτακε 

 Ρ Μοδιφιχατιον οφ χρψσταλ στρυχτυρε 

 Σ Dεχρεασε ιν mοιστυρε ρεγαιν

(Α) Π,Θ,Ρ (Β) Θ,Ρ,Σ 

(Χ) Π,Σ,Ρ (D) Π,Θ,Σ 

 
Θ.44 Ιν τηε χασε οφ ρεαχτιϖε δψεινγ οφ χοττον, τηε εξηαυστιον ισ 70% ανδ ρεαχτιον εφφιχιενχψ ισ 80%. 

Ασσυmινγ τηατ τηε ινιτιαλ δψε χονχεντρατιον ισ 2% ον τηε ωειγητ οφ φαβριχ, τηε αmουντ οφ υνρεαχτεδ 

δψε ον τηε φαβριχ εξπρεσσεδ ασ α περχενταγε οφ φαβριχ ωειγητ ωουλδ βε 

(Α)  0.14 (Β)  0.28 (Χ) 0.35   (D) 0.42 

 
Θ.45 Χονσιδερ τηε φολλοωινγ ασσερτιον [a] ανδ ρεασον [r] ανδ χηοοσε τηε mοστ αππροπριατε ανσωερ  

 

[a] Χοντρολλεδ ρεδυχτιον τρεατmεντσ αρε χοmmερχιαλλψ υσεδ φορ σηρινκ ρεσιστ φινισηινγ οφ ωοολ 

[r] Ρεδυχτιον δισρυπτσ τηε δισυλπηιδε βονδσ, ωηιχη αρε ρεσπονσιβλε φορ ωοολ σηρινκαγε 

(Α)  [a] ισ ριγητ [r] ισ ωρονγ 

(Β)  [a] ισ ριγητ [r] ισ ριγητ 

(Χ)  [a] ισ ωρονγ [r] ισ ωρονγ 

(D)  [a] ισ ωρονγ [r] ισ ριγητ 
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Θ.46 Τηε πρινχιπλε ωηιχη χαννοτ βε υσεδ το mεασυρε ηαιρινεσσ οφ ψαρν ισ 

 (Α)    Λιγητ σχαττερινγ  

 (Β)    Ιmαγε αναλψσισ  

 (Χ)    Πηοτοελεχτριχ 

 (D)    Χαπαχιτανχε 

                  
Θ.47 Τηε αβρασιον χψχλεσ ον α φλατ αβρασιον τεστερ ινχρεασε ωιτη αν ινχρεασε ιν 

(Α)     Πρεσσυρε αππλιεδ δυρινγ αβρασιον  

(Β)     Σπεεδ οφ αβρασιον  

(Χ)     Αρεα οφ αβραδεδ συρφαχε   

(D)     Σπεχιmεν τενσιον δυρινγ αβρασιον 

 

Common Data Questions 

Common Data for Questions 48 and 49:   

 

Α ωινδινγ mαχηινε ωιτηουτ αντι−παττερνινγ δεϖιχε ηασ τηε φολλοωινγ παρτιχυλαρσ: 

 

 Χψλινδριχαλ ωινδινγ δρυm διαmετερ  : 75 mm 

 Νυmβερ οφ χροσσινγ ον δρυm   : 
2
12  

 Ροτατιοναλ σπεεδ οφ τηε δρυm   : 2860 ρεϖ/mιν 

 Τραϖερσε λενγτη     : 150 mm 

 

Α 3.5 δεγρεε χονσταντ ταπερ χονε ισ βυιλτ ον τηε αβοϖε χονε ωινδερ ωιτη νο mοϖεmεντ οφ τηε ποιντ οφ δριϖε 

δυρινγ τηε παχκαγε βυιλδ υπ. Ατ mεαν χονε διαmετερ οφ 150 mm τηε παχκαγε ρεϖ/mιν ισ 1375. 

Θ.48 Τηε νυmβερ οφ τιmεσ mαϕορ παττερνινγ ωιλλ οχχυρ ιν προδυχινγ 200 mm mεαν διαmετερ παχκαγε ον 

40 mm mεαν διαmετερ χορε ισ 

 

(Α) 5 (Β) 7 (Χ) 9 (D) 11 

 
Θ.49 Dιστανχε ιν mm οφ ποιντ οφ δριϖε φροm τηε βασε οφ τηε χονε αλονγ τηε τραϖερσε ισ αππροξιmατελψ  

(Α)  26 (Β)  30 (Χ)   36 (D)   40 

 

Common Data for Questions 50 and 51:   

 

Χονσιδερ τηε φολλοωινγ παρτιχυλαρσ φορ α σπιννινγ  λινε προδυχινγ 30 τεξ ψαρν φροm 150 mιλιτεξ πολψεστερ 

φιβρε.  

 

 Μασσ Χς οφ χαρδ σλιϖερ    : 3% 

 Μασσ Χς αδδεδ ατ δραω−φραmε   : 2% 

 Μασσ Χς αδδεδ ατ σπεεδ−φραmε   : 3% 

 Μασσ Χς αδδεδ ατ ρινγ−φραmε   : 7% 

 Νυmβερ οφ δουβλινγ ατ δραω−φραmε : 6 

 Νυmβερ οφ δραω−φραmε πασσαγε   : 1 

Θ.50  Τηε mασσ Χς% οφ ροϖινγ ισ αππροξιmατελψ 

 

(Α)    3.4 (Β)    3.8 (Χ)    4.2 (D)    4.6 

 
Θ.51 Ινδεξ οφ ιρρεγυλαριτψ οφ ψαρν ισ αππροξιmατελψ 

(Α)    0.88 (Β)    1.13 (Χ)    1.33 (D)  1.53 
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Linked Answer Questions 

Linked Answer Questions 52 and 53:   

 

 

Τηε ανγλε συβτενδεδ βψ τηε ηαλφ−λαπ ον τηε χψλινδερ χοmβ ισ 90ο. Τηε τιmε τακεν βψ τηε ηαλφ−λαπ το χοmβ α 

φρινγε ισ 0.04 σ.  

 

Θ.52  Τηε σπεεδ οφ τηε χοmβερ ιν νιπσ/mιν ισ 

 

(Α) 325 (Β) 350 (Χ) 375 (D) 400 

 

 
Θ.53 Φροm τηε φολλοωινγ δατα, χαλχυλατε αππροξιmατε προδυχτιον ρατε ιν κγ/ηρ 

 

Λενγτη οφ λαπ φεδ περ νιπ  : 6 mm 

Λαπ λινεαρ δενσιτψ   : 60 κτεξ 

Νοιλ     : 20% 

Εφφιχιενχψ   : 80% 

Νυmβερ οφ ηεαδσ   : 6 

(Α)  21 (Β)  26 (Χ)   31 (D)  36 

 

 

Linked Answer Questions 54 and 55:  

 

 

ςισχοσε φαβριχ ισ το βε ρεσιν φινισηεδ ωιτη DΜDΗΕΥ βψ παδ−δρψ−χυρε mετηοδ. Ασσυmε τηατ  

 

 Μασσ οφ φαβριχ περ υνιτ αρεα    : 200 γ/m2 

 Wιδτη οφ φαβριχ      : 100 χm 

 Σπεεδ οφ τηε mαχηινε    : 50 m/mιν 

 Χονχεντρατιον οφ παδ λιθυορ    : 100 γ/λ 

 Wετ πιχκ υπ      : 100% 

 Σπεχιφιχ γραϖιτψ οφ παδδινγ λιθυορ  : 1.0 

 Μολεχυλαρ ωειγητ οφ ανηψδρογλυχοσε υνιτ : 162 

 

Θ.54  Τηε ρεσιν αδδ−ον αφτερ παδδινγ ιν κγ περ κγ οφ φαβριχ ωιλλ βε 

 

(Α) 0.1 (Β) 0.2 (Χ) 0.3 (D) 0.4 

 

 
Θ.55 Ασσυmινγ τηατ τηε ρεαχτιον τακεσ πλαχε ιν αmορπηουσ ρεγιον ονλψ ανδ τηατ τηε φαβριχ χρψσταλλινιτψ ισ 

33%, τηε νυmβερ οφ χροσσ λινκσ φορmεδ περ ανηψδρογλυχοσε υνιτ αφτερ χυρινγ ωουλδ βε 

αππροξιmατελψ 

(Α)  0.07 (Β)  0.14  (Χ)   0.28 (D)   0.35 
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General Aptitude (GA) Questions 

Q. 56 – Q. 60 carry one mark each. 

Θ.56 Α νυmβερ ισ ασ mυχη γρεατερ τηαν 75 ασ ιτ ισ σmαλλερ τηαν 117. Τηε νυmβερ ισ: 

(Α) 91 (Β)  93 (Χ)  89 (D)  96 

 

 
Θ.57 Τηε προφεσσορ ορδερεδ το τηε στυδεντσ το γο ουτ οφ τηε χλασσ. 

        Ι                     ΙΙ                     ΙΙΙ                         Ις 

Wηιχη οφ τηε αβοϖε υνδερλινεδ παρτσ οφ τηε σεντενχε ισ γραmmατιχαλλψ ινχορρεχτ? 

(Α) Ι (Β) ΙΙ (Χ)  ΙΙΙ (D)  Ις 

 

 
Θ.58 Wηιχη οφ τηε φολλοωινγ οπτιονσ ισ τηε χλοσεστ ιν mεανινγ το τηε ωορδ γιϖεν βελοω: 

 

Πριmεϖαλ 

(Α) Μοδερν (Β) Ηιστοριχ 

(Χ) Πριmιτιϖε (D) Αντιθυε  

 

 
Θ.59 Φριενδσηιπ, νο mαττερ ηοω _________ιτ ισ, ηασ ιτσ λιmιτατιονσ. 

(Α) χορδιαλ  

 

(Β) ιντιmατε 

 

(Χ) σεχρετ 

 

(D) πλεασαντ  

 

 
Θ.60 Σελεχτ τηε παιρ τηατ βεστ εξπρεσσεσ α ρελατιονσηιπ σιmιλαρ το τηατ εξπρεσσεδ ιν τηε παιρ: 

Medicine: Health  

(Α) Σχιενχε: Εξπεριmεντ (Β) Wεαλτη: Πεαχε 

(Χ) Εδυχατιον: Κνοωλεδγε (D) Μονεψ: Ηαππινεσσ 

 

 

Q. 61 to Q. 65 carry two marks each. 

Θ.61 Ξ ανδ Ψ αρε τωο ποσιτιϖε ρεαλ νυmβερσ συχη τηατ ʹܺ ൅ ܻ ൑ ͸ ανδ ܺ ൅ ʹܻ ൑ ͺ. Φορ ωηιχη οφ τηε 

φολλοωινγ ϖαλυεσ οφ ሺܺǡ ܻሻ τηε φυνχτιον ݂ሺܺǡ ܻሻ ൌ ͵ܺ ൅ ͸ܻ ωιλλ γιϖε mαξιmυm ϖαλυε? 

(Α) (4/3, 10/3) 

 

(Β) (8/3, 20/3) 

 

(Χ) (8/3, 10/3) 

 

(D) (4/3, 20/3) 

 
Θ.62 Ιφ ȁͶܺ െ ͹ȁ ൌ ͷ τηεν τηε ϖαλυεσ οφ ʹ ȁܺȁ െ ȁ െ ܺȁ ισ: 

(Α)  2, 1/3 (Β) 1/2, 3 (Χ)  3/2, 9 (D)  2/3, 9 
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Θ.63 Φολλοωινγ ταβλε προϖιδεσ φιγυρεσ (ιν ρυπεεσ) ον αννυαλ εξπενδιτυρε οφ α φιρm φορ τωο ψεαρσ − 2010 

ανδ 2011.  

 

Category 2010 2011 

Raw material 5200 6240 

Power & fuel 7000 9450 

Salary & wages 9000 12600 

Plant & machinery 20000 25000 

Advertising 15000 19500 

Research & Development 22000 26400 

 

Ιν 2011, ωηιχη οφ τηε φολλοωινγ τωο χατεγοριεσ ηαϖε ρεγιστερεδ ινχρεασε βψ σαmε περχενταγε?   

(Α) Ραω mατεριαλ ανδ Σαλαρψ & ωαγεσ  

 

(Β)  Σαλαρψ & ωαγεσ ανδ Αδϖερτισινγ 

 

(Χ) Ποωερ & φυελ ανδ Αδϖερτισινγ 

 

(D) Ραω mατεριαλ ανδ Ρεσεαρχη & Dεϖελοπmεντ  

 
Θ.64 Α φιρm ισ σελλινγ ιτσ προδυχτ ατ Ρσ. 60 περ υνιτ. Τηε τοταλ χοστ οφ προδυχτιον ισ Ρσ. 100 ανδ φιρm ισ 

εαρνινγ τοταλ προφιτ οφ Ρσ. 500. Λατερ, τηε τοταλ χοστ ινχρεασεδ βψ 30%. Βψ ωηατ περχενταγε τηε πριχε 

σηουλδ βε ινχρεασεδ το mαινταινεδ τηε σαmε προφιτ λεϖελ.  

(Α) 5 (Β) 10 (Χ)  15 (D)  30 

 
Θ.65 Αβηισηεκ ισ ελδερ το Σαϖαρ. 

Σαϖαρ ισ ψουνγερ το Ανσηυλ. 

 

Wηιχη οφ τηε γιϖεν χονχλυσιονσ ισ λογιχαλλψ ϖαλιδ ανδ ισ ινφερρεδ φροm τηε αβοϖε 

στατεmεντσ?   
  

(Α) Αβηισηεκ ισ ελδερ το Ανσηυλ 

 

(Β) Ανσηυλ ισ ελδερ το Αβηισηεκ 

 

(Χ) Αβηισηεκ ανδ Ανσηυλ αρε οφ τηε σαmε αγε 

 

(D) Νο χονχλυσιον φολλοωσ 

 
 

END OF THE QUESTION PAPER 

 
 


